Au
Hw p.30  1)3peh,H

D Crys XY azax-d
(1) qLi) =AY -4 =-2
(& 0q)0y = §(2)= 557 =2 =)
(i) §¢3) = =E-=4

(g o§X-3)= Q ()= 2(3) 4= 1-4= -3

c.;.n (Sogdx) = § (oo = § (ax-4) = (ax_-}ﬂ - 2k
Gv) (g of3x) = GO 2(*)-y = xeq-q=x

DY gk=x3-3 Awod=dxes W gz E x#T
5: K3-2 o 'h x+5 (549K = ;;_ _‘}:"S""Z"f
X =4°%-2 = Fy+S I T
xX=9 3 “3 7~.Cl§7~35=9‘-5
7\\"; 3‘3 . R-§ = ﬁ% 5’\_37,-_-.9‘3
b =y = g W H(x-5) =Y o 2%:2?’:)
= 4x-20 = \W &) 2aT a0 ()
9 R - = = X
Zex 979
L{S 57(5) where 2
Q) Sx)=lb-x b S xaq c) x= g3
%=:'; X = ‘-—5%— XL"‘:&-?’):;‘;
K=~ _ __%&-_-_,-
° ¢- X (y¥7) =10 Hxy
g =L §-(x) oy en = o DB
g-.(5\:b—5'=\ Xu = o-1x ‘j= ;1_+’3x:,’:_&)*
- \_9,'2.2‘. :?-'LK> ‘-'ht.
x
$C(s)= 24305)
§(5)= ‘5’%—@ 4Cs)
- 0-35 = 2+\§
S R
= =25 = \7
5" —



